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Keto - Enol tautomerism Molecules under investigation

Thymine: X=CH
Uracil: X=H
5-X-Uracil: X=F,Cl,Br, |

Initially, all molecules are in their keto form.
The enol form is quasi-degenerate but is separated
from the keto by a barrier of about 2 eV.
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Calculation are underway to establish the reaction path

St ' - s and the associated energetics.
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Slope = -2.6 1.6 -0.8 (exp)
2.7 1.7 -0.6 (th. 1)
mass a3 =7 | AR -0.5 -0.5 0.9 (th.2)
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3 body sequential dissociation: 2 possible sequences
1- ABC* , AC*+ B* o A++ B++ C° 190 147 28+ 119°
Pg= (-mg/m,c) Py s P= (M/mye) Py = -(Mmo/my) Py Slope =-2.4 -0.7 (exp)
-25 1.5 -0.6 (th. 1)
2- ABC* - A*+BC' - A*+B*+ C° -0.7 -0.2 0.4 (th.2)

Pe= (-mg/Mgc) P ; P= (Mc/Mg) Py = -(M/mgc) Py



